OO0O0000ddd No. 6

oo od

20140 120 220,00 20150 10 180
O0000: D(gr)={2€C||z—¢|<r}, A(e;R1,Ry)={2€C|R1 <|z—c| <Ry}

Cauchy OO0 OO QOQOOOOO

d d
63. / th/ “poooo (MDODODODODOD)
| |

z—2|=1 # z—1]=2 #

64. ()J00O0O0ODOOOOOOO((2)C,0000,0000000O0O0O0DOO0OODOOODO

65. O=C\{zeR|2<0}000000000000000
()Q00000000000000()QO0000000 “0000” L 0000000000
000000000000000000000(3) (2) 0000000 L0000 (a)zecRO0O
L(z) =logz (log 00000000), (b) L(2122) = L(z1) + L(22) (21,20 € Q) 00000000000

66. DUO0O0OOODODO Cawchy OODOOOOOOODOOOOOOODOODOO

d
a,cEC,r>0,\a—c]<rDDDDDD/ i
lz—c|=r # — @

(Cauchy DO0OO00DOOOO0OOOU0OOOODOOOOODOOOODOOOODOOOOODOOOO
ooboooobooobooobooboooDbOoO0nD Cauchy DOODOODOOOODOOODOOD
000000000000000000000000 Cauchy OOOOOOOOOODOOOOO)

= 2mi.

Cauchy 00O QOQOOOOOODOOOODOOO

gboodbobooboobobobbboobboobouboob oo bDUubUdLiowilled g
gboboboboboboboboboboboboboobo

67. UD CO0O0ODO,cel, f:U—-COO0000DODOOODO200000000000000
() yoo00000 ¢g000000f(2) =(z—c)*g(z) (2 €U), g(c) #0.
(i) fle)=f'(c) == fFD(ec)=0, fF(c) #0.

(000D0D000000000¢O0 fO0 AOOD0DDO0DO0O00O0O0O0O000000000OO0 §110000
()=(i) 00000000000000000000(G)=()000000000000)



68. QO COOOOce®, f:Q—COOO, fc)=0, f£00000
>0 Vz:0<|z—¢|<e) f(z)#0

0000000 (D000 o00ODODO0O0D0DUUOOODOOOOO)DOOO
(0000000000000 00 (identity theorem) 00 O0O0ODO0OODOOO)

69. 0D00DO sin(z+w) =sinzcosw+coszsinw (z,w e C) 00000000000 DOO0DOOO
gboobobooooon

70. OO f(z): godd « ODD0OOCOOOOODOO (TaylorDD)DDDDDDDDDDDD
1422

gbobobobobooboboooboooooon
(0000000 0O0oOO0O0O000 100booooooooon)

1 0 2n
71. ﬂ@:z_3DODDDDDEMMDDDﬂ@:—}jﬁﬁDDDDDDDDDDDDD
n=0

gobooboooobooon

72. QD COODOOOf:Q—-CO0O00OVzeN f(2)#0,000 fODOD0OO0ODOOOOOOOO
0Omin|f() 000000000000
zE

73. f(z)0 |z/<10000 (000000D000000000)00000000]f(2)|0 |2 =1
000 mO0000 |2/<100000000000f(:) 000000000000

74. 0000 (Schwarz O Lemma 0000O000000)000000O
f:D(0;1) - COOOOO|f(2)] <1 (z e D0;1), f(0)=0000000]f(2)] < |2 OO
I£(0)<10000000000f(2)=cz, |¢f=1000 ¢c00000000000O

f(z) < |z] (0<]z|<1), |f(0)]<1.

OO00000 Laurent OO

75. 000000000000 ()O00000 (20000000 (3)0 (4)0000000
(5) 00O

Y6. OOUO0O fO0D0ODO0O0ODO cOOfO0 KDOOOODOOODOOOOOODOOOOOODO

77. DOUOO0O Lawrent 00 000000000000 O0OO (DOODOOOO)00OO0O0OO(DO
O000000000O0OLauwrent 000000000000 0OOOOODNO)



78. ¢0 fO0000000KkeNOODOOOOODO200000000000000000
() cO fO KODDODOOODO

(i) cOOOODO0OODD UOODOOOO g0OOOOOO

f(z) =

(z —c)F (z€U\{c}), glc) #0.

(0000000000000 §110000()=(i) 00000 @G)=() 0000000000000
0o00O0O00O00000)

79. 00O (1),(2),(3) 00O OO (Casorati-Weierstrass 01000 00000000)O

(1) (Va € C\ {0}) (Ve > 0) (32 € A(0;0,¢)) exp% —a.

1
(2) (FH{zntnenw) h_)m zn =0 A lim exp— =0.

n—00 Zn

. . 1
(3) (Hzn}tnen) ,}LIEOZ”_O/\,}I_{%OGXPZ_OO'
0000000000000 000000000e* =expz,log0000000O0O0O(1)0O a=re? 0
ooobOdzO r,¢000000O00O0OOOO
1
80. f(z)zﬁDDDDDDDDDDDDDDD(&)ODDDDD Laurent O O (by 200
2(2—2
000 Laurent 00 (c){z€C|2<|z| <00} 0000 Laurent 00O

1
81. = goooooooobobonog D(0;1) 0000 Taylor OO b
6= ey () D(0;1) aylor 00 (b)

A(0;1,2) D000 Laurent 0O (c) A(0;2,00) D000 Laurent 0O

1— ¢
82. f(z)= f 0000000 Laurent 00000
A

83. f(2) 21 goooooooobobooobo
. z) =
(z+1)(22-1)
(1)000000 Taylor 0000000 (2)1/2<|2/<10000 Lawent 0000000 (3)

1<|z]<co0000 Laurent 0000000

0d

84. 00000000000OOO0O0(1)0000000000 (20000 (3)000 (@)
00 (5)CO00000 pOOOOD (60000

8. U0OOO0O0OOOO0DO 100000



86. ¢ccC,R>0,2:=D(R),P:Q—-C0 Q:Q-»CUO0000D0D0DO0DOOOOOOO
(1) (WneN) PM(¢)=0000 PODOOOOOOOOOOOO

(2) Bk eN) P(c)=P'(c)=---=PFD()=0,PF(c)40000000000Q000000 P,
O0P(z)=(2—c)*Pi(2) (€ Q) 000000000000000000000000 Pi(c) O
00 P, k,c00000

(3) PO (2)DDDDDDDDDDf::%D cO000kKD000000D0D (DD Qe)£A00000

k0O0O0)000O0O0O0O0OO0O (¢000 k000000 KOUOOOOD K OODODO ¢cO KOO
000000000 ¢O0 fO0O0DOO0OOOOODOOOOOO)O

(1), (2) 0000000000000000000000@B)0 (2)00000(1),(2),3)0000
0000000 (3)0000000000000000000000000

W.f@%:Gtﬂ%tgﬁDDDDR%UNL&MﬁDJ&%ﬂ%DDDDD

88. DDDDDDDDDDDDDD?DDDDDDDDDDDD )
z +z

1 = 2 = oooooog 3 =

W6 =7 @ FC) = e (@ ) B /G)

zsin z

89. cU fOU0 kOO0O0ODDOUODOOn>—-k0000000 nezODOUO

= tim o (4 )M (= 0 1()]

20 (n+ k) \dz
o
D0000000000000 a, 0 Lawent DO0000: f(z) = Y an(z—¢)" (0< |z —¢| <e)0

n=—oo

90. Res(f;c)=ae1 00000000000000 (Res(f;0)0 fOODODOOODOODOOOOOO)O
(1) Res(f(z) +cosz;c) (2) Res(3f(2);¢)

91. fO00<|2/<ROODODO
f(=2)=f(z) (0<]z| <R)
0000000O0O0ORes(f;0)=0000000000

92. ¢ 0O fO0 10000 Res(f;e) =a 000000 o0 ¢c0000000ODODOOOOOO
Res(¢(2)f(z);c) DO O OO

COSTZ

93. (1) 7mcotmz=m 00o000oO0ooooooooo  (2)ceCUODOOD fO1DO0OO,

nmz
g0 cO0000000O00OD0OOORes(fg;c) =g(c)Res(f;¢) 0000 (3)/ Zrcotnz dz O
|z|=5/2
goono



